FR20OEEMFEFERB (AHTE) HEREMRE

mB2 B (M%E HEEE (%) |EE
mB %R K HEREDRE |BLURE A&t
1 ZEREFENOEBELLNEL [m3 10
2 T TAKERRSY m3 6
3 |mimE A 0 0 16 100
JIAZYTILASTERL:
4 r— gt ms 0
5 i B4 i B AR5 m3 0 0 0] #DIV/0!
6 ] BAMNRTAIZVGERY t 726
Z 477w7\77)l,|~;5'.;é %@zx%’fﬁﬁ)&?wiw;ﬁ N 0 0 726 100
8 hEEFRIZILEES t 0
9 o Eiﬁx%’]}r‘%ﬁ ET m3 0
0 aVH)—rAR [Zz0ZvFILRST B m3 0
ST EH 255 B4 m3 0 0 o| #bv/ol
E%kﬁﬁ&;tx%ﬂ%ig m3 0
MRS T EARE m3 0
s |BEM BAAHE m3 569 0 669 100
5 IMEAK GE m3 0
6 BFEEAE t 3 0 3 100
7 BAEAUR ATy at Ak t 0
6 - 1|*" £ 57—k (GEIF) m3 68 0 1458 100
7-1 £ 71—k G7ATY) m3 1,390 ’
8 EAR IOEAVkE & 203 EHNRE. 2L H)—F2RE S
9 AVY)—FRU [FBKMEILI)—F m3 15
9 -1 :‘/7')_—!75!.:”.: FEKHEI Y —b2RE & & 197
20 %f@;777k*” %EBR55TOvY ke 0 0 o| #ov/or
21 |REFASIU= TSIV ERVERAT [ 0 0 ol v
r avy)—k
22 TERZER (EHE) kg 3, 464 0 3,464 100
oy EEFREARERIE OREE
23 ot ) = Rk m2 0 0 0| #DIV/O!
24 EEL L E S L) m2 50 0 50 100
25 BhIK EEETEIGYS m2 655 0 655 100
2% BEMBERVRERD | 0
a9 (FERR)
e BEMHERAV-SERD 0 0|  #DIV/0!
27 Oy 8 (FLF v RAMEHIY [m2 0
9 —bE&)
28 IN=JT-L\B kg 0
g |EEAH TAKBRERN =B EREIE |, 0 0 0| #DNV/O!
B (FAERIVRRE) €
30 B R R A LED;& X BB BH & 22 0 22 100
hRHEED [BETSRAFVIRPRSEH
31 bob preard & 0 0 0|  #DIV/O!
32 24)L +S53955()L m2 63 1 64 98
33 #8 WEYYY K7 IR 3
34 ETEz) m3 4
35 EX5%0) m3 20
% |mars aif = =
m3 2
37 BiREEM m3 0
38 EXERIR m3 0
39 0—)>45 Jo0—)v4 m2 3 0 3 100
40 IS=TADIVR—F m2 22 0 22 100
41 BEKRER—F (MR m2 0 0 0] #DIV/0!
42 AEREAVMR m2 264 0 264 100
43 E-LREEHM |EZILREM m2 2,800 103 2,903 96
44 BT AT WSt IEH 4
45 FRRARERS REAKIES X T L IEH 6 0 6 100
46 EEE EEER & 5 0 5 100
47 TR AR KA a8 0 0 0] #DIV/0!
48 kE R MR ] a8 0 0 0] #DIV/0!
49 |ZEAHE ARILOVE—MRVTRZ [ 0 0 o| #pv/or
SERFNA
50 £ EAE = 12 0 12 100
51 R T & 0 0 0] #DIV/0!
52 |mEH ?é’t'f':’%gﬁﬁﬂig*"ﬁ m 433 19 452 96
53 EENY: IEH% 52 17 69 75
S A 5
54 |@iERE i?géﬁﬁmﬁ%wﬂaﬁ TEH 17 1 28 61
55 ERVESE TI=% 18 13 31 58
56 AVY—+RE |BEMBEERLERR ISH 4
57 B SiREH TI=% 161
58 o EEESSE 1] ISH 20 1 21 95
59 : BESTENER ISEH 19 2 21 90
0 |SERLEED pomtannmTE TEH 5 0 5 100
o |SEOERER pprpmensT:  [Teum 1 0 1 100
AVYU—MRE | o - %
62 ERET AV - MRBANE TR I$%ﬂl 1 0 1 100
63 |WEEE | BLREEETE =L 0
64 |MEGEE)  |BEEEHSTE =5 0
- - REMXFERRELE &R | LE5 0 0 0|  #DIV/0!
& AERIETE Li-iEmRie Tik m2 0 0 0] #DIV/0!
66 WIBE s T 3k gigﬂﬁiﬂvwmx%&ﬂ TEH 25 0 25 100
67 = [BEKHESRE m2 6
o8 =X T iﬁﬂdﬁ%ﬁg - 3
69 |= it E &l m2 0




	合計

